

SINDH ENVIRONMENTAL PROTECTION AGENCY GOVERNMENT OF SINDH, KARACHI

Inf-Kry No. 1181/17 Dated: 12/March/2017 NIT Sr. No. SPPRA Serial No.32136

Method and Procedure of Procurement: Open Competitive Bidding (National Competitive Bidding)

(Single Stage One Envelope)

ADP Scheme: "ESTABLISHMENT & FURNISHING OF REGIONAL OFFICES AT SUKKUR AND HYDERABAD AND EXPANSION OF EPA BUILDING KORANGI INDUSTRIAL AREA, KARACHI"

List of participants / attendance attached.

The meeting was started with the recitation of Holy Quran. The following 3 bidders purchased the bidding documents and submitted the sealed document on 03-04-2017.

Method and Procedure of Procurement

NCB, Single Stage One Envelope Procedure (National Competitive Bidding)

- M/s M A. Enterprises
- M/s D.A. Traders
- M/s Sajid Traders

The committee started the proceeding of opening of tender in front of aforementioned bidders and read loudly the names and bid amount of each bidders one by one opening their respective bids. The Comparative statement of each item is enclosed herewith showing bid amount of each item.

The meeting ended with vote of thanks by the Chair.

SIGNATURE OF THE PROCUREMENT COMMITTEE

Mubarak Ali

Assistant Director EPA

Member

MUBARK ALI Assistant Director

Environmental Protection Agency Government of Sindh

Mussarat Mokhtar Deputy Director

Industries Department

Musarrat Mokhtar

Deputy Director Inspection Directorate of Industries

Government of Sindh

Irfan Ahmed Abbasi Director, Admin & Finance

Chairman Director / D.D.O

(Admn/Finance) . Environment Protection Agency Government of Sindh

COMPARATIVE STATEMENT SHOWING OFFERED RATES BY THE FIRMS

A - Physical Assets for Head Office, Karachi

A-(i) Furniture for the Auditorium at Karachi

S#	Item	Qty			Bid	der's offer		
			M.A. Er	M.A. Enterprises		. Traders	Sajid Traders	
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Auditorium hall Chairs	150	10,000	1,500,000	10500	1,575,000	10600	1,590,000
2	Head Table for Auditorium	1	45,000	45,000	46000	46,000	45200	45,200
3	Presiding Sofa	6	15,000	90,000	15,200	91,200	15,300	91,800
4	Rostrum	1	15,000	15,000	15,400	15,400	15,200	15,200
5	Blinds for windows	15	3,000	45,000	3,100	46,500	3,150	47,250
			TOTAL	1,695,0	00	- 1	,774,100	1,789,450

Furniture for Meeting Hall, Karachi

S	Item	Qty			Bidder's	offer		
#			M.A. Ente	rprises D		Traders	Sajid Traders	
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Revolving Chairs	30	5,000	150,000	5,100	153,000	5,200	156,000
2	Round table for 30 persons	1	200,000	200,000	204,000	204,000	205,000	205,000
3	Blinds for windows	3	5,000	15,000	5,100	15,300	5,250	15,750
		TOTA	L	365,000	-	372,300		376,750

B-2- Air-Conditioning Equipment for Auditorium Hall at Karachi

S#	Item	Qty			Bidder's off	er		
			M.A. Enterprises		D.A. Traders		Sajid Traders	
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Supplying & Fixing 4 Split A/C Air Condition 4.0 Ton with Stabilizer.	4	200,000	800,000	205,000	820,000	203,000	812,000
2	2 Water Dispensers	2	17,000	34,000	17,100	34,200	17,300	34,900
			TOTAL	834,000	_	854 200		846 900

3- Multi Media Projection System For Auditorium

S #	Item	Qt	Bidder's offer							
		У	M.A. Er	nterprises	D.A.	Traders	Saji	d Traders		
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost		
1	As per Bidding Documents	1 lot	574,000	574,000	575,000	575,000	578,000	578,000		
			TOTAL	574,000	-	575,000		578,000		

MI

Ju

3- Audio & Visual Equipment for Meeting Hall at Karachi

S #	Item	Qty	Bidder's offer							
			M.A. Enterprises		D.A. Traders		Sajid Traders			
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost		
1	As per Bidding Documents	1 No.	500,000	500,000	555,000	555,000	557,000	557,000		
			TOTAL	500,000	-	555,000		557,000		

PROCUREMENT FOR SUKKUR

1- Equipment for Regional office Sukkur

S#	Item	Qty		Bidder's offer							
			M.A. Er	M.A. Enterprises		D.A. Traders		d Traders			
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost			
1	Photo state Machine	1 No.	80,000	80,000	81,000	81,000	82,000	82,000			
2	Fax Machine	1 No.	20,000	20,000	22,000	22,000	21,000	21,000			
3	Computer with LCD, printer and Accessories	10 Nos	90,000	900,000	91,000	910,000	92,000	920,000			
			TOTAL	1,000,000	-	1,013,000		1,023,000			

EQUIPMENTS FOR THE CONFERENCE ROOM & MEETING HALL AT SUKKUR

S#	Item	Q			Bido	ler's offer		
		ty	M.A. Er	nterprises	D.A.	Traders	Sajid	Traders
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	2 ton Air conditioner & Stabilizers with installation for Conference Hall	3	100,000	300,000	105,000	315,000	104,000	312,000
2	Air conditioner 2 ton & Stabilizers with installation for Meeting Hall	3	100,000	300,000	110,000	330,000	105,000	315,000
3	Audio Visual Projection System for Conference Hall	1	450,000	450,000	451,000	451,000	455,000	455,000
4	Audio Visual Projection System for Meeting Hall	1	650,000	650,000	655,000	655,000	660,000	660,000
5	Water Dispenser (Specification is enclosed)	2	17,000	34,000	17,100	34,200	17,500	35,000
7	Crockery for 50 persons for meeting Hall	1	30,000	30,000	31,000	31,000	32,000	32,000
				1,764,000	-	1,816,200		1,809,000

Generator 25 K.V for Regional Office Sukkur

S #	Item	Qty		Bidder's offer						
			M.A. Ente	erprises	D.A. T	raders	Sajid '	Traders		
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost		
1	Generator 25 KV	1 No.	1,000,000	1,000,000	1,010,000	1,010,000	1,015,000	1,015,000		
			TOTAL	1,000,000		1,010,000		1,015,000		

MI

Jy /

1

2- Furniture for Regional office Sukkur

S #	Item	Qty			Bidd€	er's offer		
			M.A. E	nterprises	D.A.	Traders	Sajid T	Traders
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Executive Table with side racks & Executive Revolving Chair and 4 Visitors Chairs	2	83000	166,000	85000	170,000	84000	168,000
2	Office Table , Side Rack, Revolving Chair for Assistant Director with 03 Visitors Chairs	6	50000	300,000	51000	306,000	52000	312,000
3	Office Table Wooden for General Staff	20	15000	300,000	15100	302,000	15500	310,000
4	Chairs wood with net	36	2500	90,000	2600	93,600	2650	95,400
5	Steel Almirah Good Quality	20	15000	300,000	15100	302,000	15500	310,000
7	Computer Table With Chairs Good Quality	2	15000	30,000	16000	32,000	17000	34,000
8	Curtains Blinds including installation	30	3000	90,000	3100	93,000	3200	96,000
			TOTAL	1,276,000	8.0	1,298,600		1,325,400

Iron Racks for Sukkur

S #	Item	Qty			Bidder	's offer		
			M.A. Ente	erprises	D.A. T	raders	Sajid ¹	Fraders
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Iron Racks	15 Nos	10,000	150,000	11,000	165,000	11,100	166,500
			TOTAL	150,000		165,000		166,500

FURNITURE FOR THE MEETING HALL AT SUKKUR

S #	Item	Qty			Bi	dder's offer		
			M.A. Er	nterprises	s D.A. Traders		Saji	Total Cost 156,000 12,500 203,000 15,200 15,600 402,300
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Meeting Hall chairs	30	5,000	150,000	5,100	153,000	5,200	156,000
2	Chairman Chairs	1	12,000	12,000	12,100	12,100	12,500	12,500
3	Conference Room Table	1	200,000	200,000	205,000	205,000	203,000	203,000
4	Rostrum	1	15,000	15,000	15,500	15,500	15,200	15,200
5	Blinds for Windows	3	5,000	15,000	5,300	15,900	5,200	15,600
			TOTAL	392,000	-	401,500	-	402,300

MA

1

FURNITURE FOR THE CONFERENCE HALL AT SUKKUR

S #	Item	Qt			Bidd	ler's offer		
		У	M.A. En	terprises	D.A. Traders		Sajid Traders	
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Conference Hall chairs	80	6,000	480,000	6,500	520,000	6,600	528,000
2	Sofa Chairs for Stage	5	9,000	45,000	10,000	50,000	10,500	52,500
3	Stage table for auditorium	1	35,000	35,000	35,500	35,500	36,000	36,000
4	Stage for auditorium	1	40,000	40,000	41,500	41,500	41,000	41,000
5	Blinds	3	5,000	15,000	5,100	15,300	5,200	15,600
			TOTAL	615,000	-	662,300	-	673,100

PROCUREMENT FOR HYDERABAD

1- Equipment for Regional office Hyderabad

S #	Item	Qty	Bidder's offer						
		M.A.		nterprises	D.A. Traders		Sajid Traders		
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	
1	Air conditioner 1.5 ton & Stabilizers with installation	1	80,000	80,000	82,000	82,000	85,000	85,000	
2	Photo state Machine	1	100,000	100,000	105,000	105,000	110,000	110,000	
3	Fax Machine	1	20,000	20,000	22,000	22,000	23,000	23,000	
4	Computer with LCD, printer and Accessories	10	90,000	900,000	91,000	910,000	92,000	920,000	
			TOTAL	1,100,000	-	1,119,000		1,138,000	

EQUIPMENTS FOR THE CONFERENCE ROOM & MEETING HALL AT HYDERABAD

S#	Item	Q	Bidder's offer								
		ty	M.A. E	nterprises	D.A.	D.A. Traders		raders			
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost			
1	2 ton Air conditioner & Stabilizers with installation for Conference Hall	3	100,000	300,000	105,000	315,000	104,000	312,000			
2	Air conditioner 2 ton & Stabilizers with installation for Meeting Hall	3	100,000	300,000	110,000	330,000	105,000	315,000			
3	Audio Visual Projection System for Conference Hall	1	450,000	450,000	451,000	451,000	455,000	455,000			
4	Audio Visual Projection System for Meeting Hall	1	650,000	650,000	655,000	655,000	660,000	660,000			
5	Water Dispenser (Specification is enclosed)	2	17,000	34,000	17,100	34,200	17,500	35,000			
7	Crockery for 50 persons for meeting Hall	1	30,000	30,000	31,000	31,000	32,000	32,000			
			TOTAL	1,764,000	-	1,816,200		1,809,000			

Generator 25 K.V for Regional Office Hyderabad

S #	Item	Qty	Bidder's offer								
			M.A. Ente	M.A. Enterprises		D.A. Traders		Sajid Traders			
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost			
1	Generator 25 KV	1 No.	1,000,000	1,000,000	1,010,000	1,010,000	1,015,000	1,015,000			
			TOTAL	1,000,000	-	1,010,000		1,015,000			

MI

In

1

2- FURNITURE FOR REGIONAL OFFICE HYDERABAD

S #	Item	Qt			В	idder's offer		
		У	M.A. En	terprises	D.A.	Traders	Saji	id Traders
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
1	Executive Table with side racks & Executive Revolving Chair and 4 Visitors Chairs	1	140000	140000	145000	145000	149000	149000
2	Executive Table with side racks & Executive Revolving Chair and 4 Visitors Chairs	3	83000	249,000	85000	255,000	84000	252,000
3	Office Table , Side Rack, Revolving Chair for Assistant Director with 03 Visitors Chairs	6	50000	300,000	51000	306,000	52000	312,000
4	Office Table Wooden for General Staff	20	15000	300,000	15100	302,000	15500	310,000
5	Chairs wood with net	36	2500	90,000	2600	93,600	2650	95,400
6	Sofa Set with Table	1	40000	40000	42000	42000	45000	45000
7	Steel Almirah Good Quality	20	15000	300,000	15100	302,000	15500	310,000
8	Computer Table With Chairs Good Quality	2	15000	30,000	16000	32,000	17000	34,000
9	Curtains Blinds including installation	30	3000	90,000	3100	93,000	3200	96,000
			TOTAL	1,539,000	_	1570600		1603400

PROCUREMENT OF IRON RACKS FOR HYDERABAD

S #	Item Qty	Qty	Estimated	Bidder's offer								
			Cost	M.A. Enterprises		D.A. Traders		Sajid Traders				
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost				
1	Iron Racks	15 Nos	10,000	10,000	150,000	11,000	165,000	11,100	166,500			
		1		TOTAL	150,000		165,000		166,500			

FURNITURE FOR THE MEETING HALL AT HYDERABAD

S #	Item	Qty	Bidder's offer							
			M.A. Er	terprises	D.A.	Traders	Sajid Traders			
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost		
1	Meeting Hall chairs	30	5,000	150,000	5,100	153,000	5,200	156,000		
2	Chairman Chairs	1	12,000	12,000	12,100	12,100	12,500	12,500		
3	Conference Room Table	1	200,000	200,000	205,000	205,000	203,000	203,000		
4	Rostrum	1	15,000	15,000	15,500	15,500	15,200	15,200		
5	Blinds for Windows	3	5,000	15,000	5,300	15,900	5,200	15,600		
			TOTAL	392,000		401,500		402,300		

M. 12

Jy J

FURNITURE FOR THE CONFERENCE HALL AT HYDERABAD

S #	Item	Qty	Bidder's offer								
			M.A. Er	nterprises	D.A. Traders		Sajid Traders				
			Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost			
1	Conference Hall chairs	80	6,000	480,000	6,500	520,000	6,600	528,000			
2	Sofa Chairs for Stage	5	9,000	45,000	10,000	50,000	10,500	52,500			
3	Stage table for auditorium	1	35,000	35,000	35,500	35,500	36,000	36,000			
4	Stage for auditorium	1	40,000	40,000	41,500	41,500	41,000	41,000			
5	Blinds	3	5,000	15,000	5,100	15,300	5,200	15,600			
			TOTAL	615,000	-	662,300	-	673,100			

SIGNATURE OF THE PROCUREMENT COMMITTEE

Mubarak Ali Assistant Director EPA

Member

MUBARK ALI

Assistant Director
Environmental Protection Agency
Government of Sindh

Mussarat Mokhtar Deputy Director Industries Department

Musarrat Mokhtar
Deputy Director Inspection
Directorate of Industries
Government of Sindh

Irfan Ahmed Abbasi Director, Admin & Finance Chairman

Director / D.D.O
(Admn / Finance)
Environment Protection Agency
Government of Sindh



SINDH ENVIRONMENTAL PROTECTION AGENCY GOVERNMENT OF SINDH, KARACHI

BID EVALUATION REPORT

1 Name	of	Procuring	Agency
--------	----	-----------	--------

2 Tender Reference No:

Environmental Protection Agency

Inf-KryNo. 1181/17 Dated: 12/March/2017

NIT Sr. No. SPPRA Serial No. 32136

3 Tender description / name of work / item

"ESTABLISHMENT & FURNISHING OF REGIONAL OFFICES AT SUKKUR AND HYDERABAD AND EXPANSION OF EPA BUILDING KORANGI INDUSTRIAL

AREA, KARACHI"

4 Method of Procurement:

5 Tender published

DOMESTIC/LOCAL

03

03

03

Inf-KryNo. 1181/17 Dated: 12/March/2017

NIT Sr. No. SPPRA Serial No. 32136

6 Total Bids Documents Sold :

7 Total Bids Received:

8 Technical Bid Opening Date (if applicable):

9 No. of bid technically qualified (if applicable):

Bids rejected

2. Financial bid opening date

Nil 3-04-2017 at 12:30 P.M

S. No	Name of firm of Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance / Rejection	Remark
A	M/s M.A. Enterprises	16,725,000	1 st lowest	Within the estimated cost	Due to the lowest evaluated bid	
В	M/s D.A. Traders	17,241,800	2 nd lowest	Highest then the estimated cost	Rejected due to highest bid	
С	M/s Sajid Traders	17,369,700	3 rd lowest	Highest then the estimated cost	Rejected due to highest bid	

SIGNATURE OF THE PROCUREMENT COMMITTEE

Mubarak Ali Assistant Director EPA

Member

MUBARK ALI

Assistant Director Environmental Protection Agency Government of Sindh Mussarat Mokhtar Deputy Director

Industries Department
Musarrat Mokhtar

Irfan Ahmed Abbasi

Deputy Director Inspection
Directorate of Industries
Government of Sindh

Director(Admin & Finance)

Chairman

Director / D.D.O
(Admn / Finance)
Environment Protection Agency
Government of Sindh



SINDH ENVIRONMENTAL PROTECTION AGENCY GOVERNMENT OF SINDH, KARACHI

Tender No. : Inf-KryNo. 1181/17 Dated: 12/March/2017

SPPRA Sr. No. : 32136

Method and Procedure of Procurement : NCB, Single Stage One Envelope Procedure

(National Competitive Bidding)

Name of ADP Scheme: "ESTABLISHMENT & FURNISHING OF REGIONAL OFFICES

AT SUKKUR AND HYDERABAD AND EXPANSION OF EPA

BUILDING KORANGI INDUSTRIAL AREA, KARACHI"

Name of Procuring Agency	Environmental Protect	ion Agency				
Tender Reference Number	Inf-Kry No. 1181/17 Dated: 12/March/2017					
	NIT Sr. No. SPPRA	Serial No.32136				
Method of Procurement	Single Stage One Envel	ope Procedure				
Tender Fee/Cost of Bidding Document	Rs.500/-					
Name of Firm/Bidder	M/s M.A. Enterprises,	M/s D.A. Traders,	M/s Sajid Traders,			
	Hyderabad	Hyderabad	Hyderabad			
Registration with Income Tax Department	<u>YES</u>	YES	YES			
Registration with SRB	YES	YES	YES			
Bank statement showing cash balance	YES	YES	YES			
1 % Earnest money	YES	YES	YES			
Firm has not been blacklist previously by any	Yes	YES	YES			
executing agency						
All documents information furnished are true & correct	YES	YES	YES			

SIGNATURE OF THE PROCUREMENT COMMITTEE

Mubarak Ali

Assistant Director EPA
Member

MUBARK ALI

Assistant Director Environmental Protection Agency Government of Sindh

Irfan Ahmed Abbasi

Director(Admin & Finance)

Chairman

Director / D.D.O (Admn / Finance) Environment Protection Agency Government of Sindh

Mussarat Mokhtar Deputy Director Industries Department

Musarrat Mokhtar
Deputy Director Inspection
Directorate of Industries
Government of Sindh

ATTENDANCE SHEET FINANCIAL BIDS OPENING ON 03-04-2017

S/NO.	NAME	DESIGNATION	ORGANIZATION	SIGNATURE
1.	Inayat Ali	Owner	M/s M.A. Enterprises,	Jung
2.	Rohail Shaikh	Owner	M/s D.A. Traders,	Robard
3.	Sajid Ali	Owner	M/s Sajid Traders,	Sojids
4.				
5.				
6.				
7.				

SIGNATURE OF THE PROCUREMENT COMMITTEE

Mubarak Ali

Assistant Director EPA

Member

MUBARK ALI

Assistant Director
Environmental Protection Agency

Government of Sindh

Deputy Director Industries Department Musarrat Mokhtar

Mussarat Mokhtar

Deputy Director Inspection Directorate of Industries Government of Sindh

Irfan Ahmed Abbasi Director, Admin & Finance

Chairman

Director / D.D.O (Admin / Finance) **Environment Protection Agency** Government of Sindh



SINDH ENVIRONMENTAL PROTECTION AGENCY

GOVERNMENT OF SINDH

Tender No.

.

Inf-Kry No. 1181/17 Dated: 12/March/2017

SPPRA Serial #

.

SPPRA Serial No.32136

Method of Procurement

NCB, Single Stage One Envelope Procedure

(National Competitive Bidding).

Name of Scheme

"ESTABLISHMENT & FURNISHING OF REGIONAL

OFFICES AT SUKKUR AND HYDERABAD AND

EXPANSION OF EPA BUILDING KORANGI

INDUSTRIAL AREA, KARACHI"

COMPARATIVE STATEMENT SHOWING OFFERED RATES BY THE FIRMS

S#	Details	Cost including all	Govt. taxes Name of	of Bidders/ Rate
		M/s. M.A. Enterprises	D.A. Traders	Sajid Traders
FUR	NITURE & FIXTURE			
A(1)	Head Office at Karachi	2,060,000	2,146,400	2,166,200
A(2)	Regional Office Sukkur	2,433,000	2,527,400	2,567,300
A(3)	Regional Office Hyderabad	2,696,000	2,799,400	2,845,300
	TOTAL FURNITURE & FIXTURE	7,189,000	7,473,200	7,578,800
MAC	CHINERY &EQUIPMENTS			
B(1)	Head Office at Karachi	1,908,000	1,984,200	1,981,900
B(2)	Regional Office Sukkur	3,764,000	3,839,200	3,847,000
B(3)	Regional Office Hyderabad	3,864,000	3,945,200	3,962,000
	TOTAL MACHINERY &EQUIPMENT	9,536,000	9,768,600	9,790,900

SIGNATURE OF THE PROCUREMENT COMMITTEE;

Assistant Director EPA

Member

MUBARK ALI

Assistant Director
Environmental Protection Agency

Government of Sindh

Mus

Musarrat Mokhtar

Deputy Diffector Industries Department

Deputy Director Inspection Directorate of Industries

Government of Sindh

Director (Admin & Finance)

Chairman

Director / D.D.O (Admn / Finance)

Environment Protection Agency Government of Sindh